AmphenOl Document No. : ATZ-WI-201902-003

Industrial Operations Date: 20190219
Amphenol Technology (Zhuhai) Co., LTD. Rev. B

The Assembly Work Instruction

ARk TE 31

10.3mm Surlok Plus Receptacle Connector Crimp Type

10.3mm Surlok+ 1 PR IERE 28 K &R

Part Number Photo

C10-730191-X5XX
C10-730191-X7XX
C10-730191-X8XX

Amphenol Technology (Zhuhai) Co., LTD
No.63, Xinghan Road, Sanzao Town, Jinwan, Zhuhai, PRC, 519040
http://www.amphenol-industrial.com




Part 1: Package contents

FEE REFR

Gasket % 31

Q@ IEBEE M Receptacle housing

Gasket (Not included when no sealing requirement)

FHE (TPKERENRBIFMN)




Part 2: Receptacle assembly

Sy P £ A

#1: 50 mm? /70mm? /85mm? /95mm? £& FIk BY IR Bz
Step 1: 50 mm? /70mm? /85mm? /95mm? wire cutting and stripping jacket

ConductorZ 1k

ThT

Insulation i £ {4

PR BERBWAR TN EE

Step 2: Insert conductor into hole of PIN then crimp

Recommended crimp length 10 +0.5mm

Cable size Cable range Recommended crimp Recommgnded crimp Cable pullout force
AT length of Side S plane distance F
RS BRI | EpTmEay | SRR
50 mm2 15.00£0.40 mm 7.0mm 10.6mm 2000N Min.
70 mm2 16.50+0.30 mm 9.2mm 12.1mm 2300N Min.
85 mm2 17.30+£0.30 mm 9.2mm 14.3mm 2500N Min.
95 mm?2 18.204-0.50mm 9.2mm 14.3mm 2800N Min.

L R FIE RN A
Cable size Stripping jacket size A
50 mm2 20mm
70 mm2 22mm
85 mm?2 25mm
95 mm2 25mm
MR R E10£0.5mm

Notes: The recommended crimp sizes are only for reference. The customer should adjust them

according to cable specification and crimp tool and test results including temperature rise and

metallographic analysis and pullout force.
AR R 3 RO 22, 20 N AR i fili FH e G g, s 3 TR, IR BE90 uE Mt 45 R A 25 iR
TH IR <5 A8 73 At LA A g I 55 i 8 e 4 T




HEFE R B LR Fahl & e
Recommended crimping tool: Manual hydraulic crimping
JEAR:  50mm2(H 8250 mm2£k#4)
70mm2(EE70mm2441)
95mm?2(/E1$%85 mm2/95 mm2£k4)
Die: 50mm2(Crimp 50 mm?2 cable)
70mm2(crimp 70mm?2 cable)
95mm2(crimp 85mm2/95 mm?2 cable)
BB ERELE L REEE, REERER.

Step 3: Assemble heated shrinkage tube onto the tail of crimp area.

A1 2mm T B K 30mm

Recommended spacing 12mm Recommended H/S tube length 30mm

R4 I MASE AR K 475 82 [ % 7E THI AR (#E77 31 350.4~0.7 N.m)

Step 4: Tighten receptacle onto the panel with M4 bolts (recommended torque is 0.4~0.7 N.m)
Recommended M4 bolts refer to GB/T 70.1-2000 ( eqv I1SO 4762:1997)
HEFZ A8 FHGB/T 70.1-200045 #E FIM4 4 75 A [ A Sk BB A%
Recommended M4 spring lock washer refer to GB 93-87
18 1] GB 93-87H5 Mk M4 T HL [E] .
Recommended M4 plain washer refer to GB 97.1-2002
HE#E 1 FIGB 97.1-2002k5#E IMA T4 .




